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1. BEEEROE
(1) BEIN
HAEERTE 34,915,000 34,915,000
BEEEERLE 3,000 3,000
STEHBI R E 77,700,000 77,700,000
MUNEE 5,000 5,000
REINAEET 112,623,000 0 112,623,000
2Q)BEER
EXE 114,556,000 0 114,556,000
% B BN 10,614,000 10,614,000
wEFY 14,888,000 14,888,000
BEHATER 1,808,000 1,808,000
EIELEE 5,671,000 5,671,000
EREEER A 2,464,000 2,464,000
REXEE 10,392,000 10,392,000
REE 3,591,000 3,591,000
MHE 4,600,000 4,600,000
SR5ILHRE 4,362,000 4,362,000
=%E 4,628,000 4,628,000
BAm{EENE 319,000 319,000
BEE 7,786,000 7,786,000
RHMGEE 37,646,000 37,646,000
RiE 768,000 768,000
BBk 1,752,000 1,752,000
L3R E 436,000 436,000
BB 270,000 270,000
AR NER 88,000 88,000
HE 2,473,000 2,473,000
EHE 20,850,000 0 20,850,000
% B HREM 6,927,000 6,927,000
WBEFH 4,054,000 4,054,000
BEHGE R 790,000 790,000
=EIELE 1,579,000 1,579,000
FREFER A 0 0
WREXEBE 600,000 600,000
MHE 320,000 320,000
ERE 1,172,000 1,172,000
A {EENE 90,000 90,000
BEE 2,195,000 2,195,000
E=t-3 946,000 946,000
Bk 180,000 180,000
L3R E 95,000 95,000
BHNE 1,020,000 1,020,000
FAFRNER 43,000 43,000
HE 839,000 839,000
ZEERE 135,406,000 0 135,406,000
L HR R B 1 E RS -22,783,000 0 -22,783,000
2. BENEBDER
(1) #BE IR
BREFMIIAEEERER 975,000 975,000
EENIREEET 975,000 0 975,000
Q) BRENEH
BRENERE 0 0 0
LHRRE S SRR _ 975,000 0 975,000
2 HA— RS IF BREA EEIRIRER —21,808,000 0 -21,808,000
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2,100,000,000

2,100,000,000
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2,078,192,000

2,078,192,000




